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ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE MANAGEMENT
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. Discuss any three the following : 4 each
a) Target Costing.
b) Activity Based Costing.
¢) Budgeting.
d) Business Process re-engineering.
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2. Describe any three of the following : ‘ 4 each
a) Presumption of death on disappearance of life assured.
b) Non forefeiture clause
¢) Ex-gratia payment
d) Accident benefit.
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Answer briefly on three of the following : 4 each
a) What do you understand by 'Work Simplification'?

b) Advantages of Panel Interviews?

¢) Significance of Duplicate Policy?

d) Importance of Declaration at the end of the Proposal executed by the

insured?
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Answer any two of the following : ' 6 each
a) Why do insurers seek several documents before settling a premature claim
inrespect of individual Policy?
b)  Compose suitable endorsement for dealing a Life Insurance Policy where
age proves to be higher when age proof is received?
¢) Explain features of Minimum Wages Act and Payment of Wages Act?
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Distinguish between : (any two) 6 each
a)  Guaranteed Surrender Value and Special Surrender Value.

b) Conventional Insurance and Micro Insurance.

¢) Capital Market and Money Market.
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Discuss the importance of any two of the following in making business 6 each
communication fast and cost effective :

a)  Audioconferencing

b) Wide area net work

¢) Inter active voice response system.
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Assesses the strengths and weaknesses of various structures of organization? 12

What according to you could be considered as a better structure of the
organization and how it is justified?
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In life insurance, age of the person to be insured is an important factor. How do 12
you justify this? Also mention the various standard age proofs accepted by the
insurer?
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What is Gratuity liability? What are options available to employers to meet this 12
liability? Discuss the advantages of Group Gratuity Scheme offered by Insurance
Company.
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Marketing of life insurance is different from marketing of other products. In
view of the above statement, discuss the process for recruitment of insurance
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marketing team and their training needs. Analyse the causes of high attrition

rate and suggest remedial measures.



